Alfa Romeo Challenge 2013 KANSA| Rd.4 & Kyusyu Rd.3

Race A
IhA-2N° bR
Aj-MEFRE (14:03:56
Fryh-BERA $14:23:20
2013.11. 04 X% : B J—RKR: F5A B WERRY—+ > + 3. 703km
Bt EF EHIE FSA/5— ETIL HE B PrERE km/h b7 # N AMALEE
121 G 1 B EE Porsche964 TSRE L #9646ul f 10 19'24.605 114. 466 154,237 8
2 28 1 1 #RFR %89 AlfaRomeo1750  #/RAVF+VA1750GTV 10 19727.800 114.153 3195 =1 65192 7
2 33 5 B B AlfaRomeo156  1=ap4156GTAT" #- 10 19'47.505 112.259 22.900 1'56.679 8
4 36 5 2 X# #£X AlfaRomeo147  1zapt 147GTAS 10 19'48.071 112.205 23.466 1'55.824 9
b 21 C 1 JAE =F BMW 23/1.9 BASIS Z3 ACRE 10 19°48. 717 112.144 24.112 1'56.406 4
6 207 C 2 W @ Peugeot 306 7" ¥ 3-306 10 19°49.034 112.115 24.429 1'55.844 8
1 222 C 3 =X =& Renault#” -2  Basisth"-iRS 10 19°53.289 111.715 28.684 1'56.756 4
8 201 E 1 Z=E BR¥ Peugeot206 Mega206 ¥Y-2"3 10 20'01.448 110.956 36.843 1'58.359 8
9 200 D 1 &R EA Renaulth-79F 4" v} ALDXLYIIRS 10 20'11.564 110.030 46.959 1'59.380 7
10 82 6 1 X #— AlfaRomeo156 K-ENGCRG156iF#Z = 10 20'20.671 109. 209 56.066 1'58.985 7
11 81 17 1 B -1 AlfaRomeo145  Rosso fiore 145 10 20'23.733 108.936 59.128 2'00.519 3
12 18 A1 FFE EN VW Golf I F-L +'A" 9} GOLF2 10 20°31.059 108.287 1'06.454 2'00.728 5
13 202 F 1 &I R& AlfaRomeo145 75" 3vb 1459)-2" I 10 20"43.219 107.228 1'18.614 2'01.197 7
14 220 D 2 ®E &EX Peugeot306 7YV IBTA 10 20°48.005 106.817 1'23.400 1'59.286 9
15 65 1 2 #R %= Al faRomeo145 10 20'48.972 106.734 1'24.367 2'01.648 9
16 600 G 2 i 14 Porsche964 PAVMAT 4457 964C2 10 21°08.072 105.127 1'43.467 2'01.649 10
17 208 E 2 I #E Peugeot207 {=5" MA& -92076T| 10 21°09.315 105.024 1'44.710 2'03.473 3
18 203 F 2 #®m 83 AlfaRomeo145  PASSMEPLZ 145 10 21'09.648 104.996 1°45.043 2'03.847 7
19 98 B 1 #HE ERE VW GOLF3 Y228 V-5 74 10 21°10.393 104.934 1'45.788 2'03.693 3
20 31 8 1 BH# =% AlfaRomeo147  Fiorel477v&iyY- 10 21°11.024 104.882 1'46.419 2°03.818 10
21 87 8 2 FH @ AlfaRomeoGT keroke-gt 10 21°12.228 104.783 1'47.623 2°03.420 3
22 80 6 2 HE # AlfaRomeo156  au#-}156TS 9 19°07.513 104. 554 T-lap 203 3556
23 50 8 3 @& MR AlfaRomeo147 K-ENG¥CRG1477R & 9 19°25.420 102.948 1 Lap 2°02.968 5
24 412 31 5 2% Lotus 13 D= =27 LY b 1383 9 19°25.764 102.917 1 Eap: 2203 111 5
25 85 8 4 <SH KA AlfaRomeol147  #-p4TTI4L D 9 19°27.209 102.790 1Lap 205627 8
26 86 9 1 EHE & AlfaRomeo159  K-ENG#CRG159 9 19'34.803 102.125 1 Lap 206.027 6
27 223 F 3 ¥ #= Peugeot106 F-Lan" ¥ 106 9 20'54.933 95.604 1Llap 209.246 7
28 78 H -t Porsche964 Y1hE EEE#F9646ulf 7 13748.926 112.574 3 Laps 1'55.525 7
29 211 E 3 #®e 2-8 Peugeot306 BozhkErs 4 9'16.161 95.877 6 Laps 2'06.935 3
30 83 2 1 NH m= Ford escort h=n =2 VY 1N SFB e A 1 2°09.615 102.849 9 Laps 2'09.615 1
RArS5vF: 21 A #HE 1" 54, 237 8/10 116. 694km/h
DIAE 4 - 1=HSR. 2=H-H2. 3=H-H4. 4=M-1300T. 5=AR150-1. 6=AR150-3. 7=AR150-4. 8=AR150-6. 9=AR150-9

A A=VWA-C-3. B=VWA-

4=
C_

4, C=S300. D=S200. E=R300. F=R200. G=SC-4, H=SC-4(Z §4})



